N of reco track vs dxy

tracks

Ratio

. i
90 15 -10 -5 0
track dxy (cm)

N of reco track vs dz

tracks

10 20 30
track dz (cm)

N of associated (recoToSim) tracks vs dxy.

true tracks

N of associated (recoToSim) looper tracks vs dxy

true tracks

2] 4]
s <]
g 8
= 5
g 2
s g
5
S 10
1
|2
IO (110 | ||/ R,
odl Lo Lo
=20 -15 -10 -! 5 10 15 20
track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2] 4]
o] <]
8 8
= =
() Q
2 &
: g
=
10 3
=] =}
I 3
o4 o |

|
ii it

el

10 20 30
track dz (cm)

0 10 20 30
track dz (cm)

'II'II Ili!l
[k
10 20

30
track dz (cm)



	Contents
	Page 1


